A RCHR=C(SE 11 RBAGR)
(£0D2)

S 24 4 A 50H
MKILNRRLBE W

o
/

KA OBAK OKECHw

BB TRBY R I W E

M5 A 1 BHJMERKE 05010001 5 TR REDHT-BE BB EIZ
DWT, HRILR BB TE B B DR ANTBI 5 2% PIB 115 B1EDEREICLY. FMyTEE
BBEEE GH~3H7) ORABRTZHZ Tt BuEELET.

ALl
1 WA
BEESE 2,970,000 H

2 X (BAhY I FT)
X o X o # s EHoONR
ELER IR S 170,150 AV -w@dERHET TR - BEEDR &
W o & 330,000| AmEENHSE
ONHE LR 0
ZRRBRIE S 0
ih 8 =
2 B R 0
BORME R 0
BRI A E 52,377 HrlEN i
HEH 548,500 Z&-EHOKE ST
H B = 647,459| BEREREER -aL—R-H)—ZR
A B 7 990,000 E&HRBH
a at 2,138,486

3 RBRA 231,014 H




